


























An engineer, a physicist and a mathematician…








































































































































































































































MANIPULATE PROBABILITY!!!














































































A physical device X has some finite, non-empty set of states.

How does the state of the system change?

What about multiple such devices?
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Deterministic ops as Matrices
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Probabilist op
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Qs We flip a coin
Pg

if we get a head we flip again
if we get a tail YE.tl mtakEEina eeard
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Tensor Product 7
1 1 t.E.FI

Note Not all 4 dim probability vectors
can be written

in the above form
p x x2 p X p X2
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There exist 4 4 transformations C A B
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Assume we have a coin Pp pto.pt

How can we simulate a fair coin


